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Instructions:-

(i) Attempt all questions.
(ii)  This question paper is divided into four sections.

(iii)  Figures on the right hand margin indicate the marks allotted to the questions.

SECTION - A (Reading)

Q.1 Read the following passage carefully and answers the questions given below it:

There is a myth that there is something magical about computers and those who run them.
The legend has got about that computers are ‘electronic brains’ and that programmes are
some sort of supermen. The facts are that computers are very stupid and the people who
programme them are normal human beings. Anyone who can count from 0 to 7 on his or
her fingers and make eight can learn to be a programmer. The business is not difficult, just
tricky. It is very misleading to imagine that computers can ‘think’ like people. They cannot.
They have no more a mind of their own than a lawn — mower. However, they make it
possible for people to ‘bottle’ thought. you work out how to, do a particular job or solve a
problem, write a programme and the computer will apply your thinking to that job or
problem as long and as after as you like. In this sense, computers are half-alive because
they perpetuate the thinking of their creators.
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Q.2

[011]

Questions:
(i)  The word similar in meaning to ‘a machine for cutting grass is’:
(@) Computer
(b) Bottle
(¢) lawn —mower
(i)  The fact is that computers are electronic brains. (Say True or False)
(i)  The meaning of perpetuate is:
(i)  Imagination
(i)  Belief
(i)  Fact
(iv)  What computers cannot do?
(v)  Why are computer like lawn — mowers?
(vi)  What does the ‘bottle’ mean?
Read the following poem carefully and answer the questions given below:
Weavers, weaving at break of day,
Why do you weave a garment so gay?
Blue as the wings of a halcyon wild,
We weave the robes of a new- born child.
Weavers, weaving at fall of night,
Why do you weave a garment so bright?
Like the plumes of peacock, purple and green,
We weave the marriage — veils of a queen.
Weavers, weaving solemn and still,
What do you weave in the moonlight chill?
White as a feather and white as a cloud,

We weave A Dead Man’s funeral shroud.

Page 2 of 8

[1]

[1]
[1]

[1]
[2]
[2]

(1010)



Q.3

[011]

Questions:

(i)  What is colour of the cloth being woven at break of day? [1]

(a) Red

(b)  White

(c) Blue
(i)  The shroud is being woveninthe..............ooooiiiiiiinn, [1]
(i)  Pick out the word that means, “an article of clothing”. [1]
(iv)  Give the opposite of ‘king’ from the above poem. [1]
(v)  Name the three cloths being woven at different times. [2]
(vi)  What cloth is being woven at fall of night? [2]

Read the following passage carefully and answer the questions given below it:

Of all human virtues, courage has been given the highest place of honour. In all ages, in
all countries, under all conditions of weather and accident, courage has been found to be
the most useful ally of human beings. Without courage there cannot be any freedom.
When courage deserts a man, he is no better than a woman. As a rule women are timid.
The reason is that they are physically weak. Physically weak persons are as a rule weak
hearted. That does not mean, however, that all physically weak persons are necessarily
timid. Nor does this mean that all physically strong persons are courageous. Courage is a
peculiar mental gift. It is very closely related to one’s spirit and character. It is a
mysterious Quality. Mere physical strength does not beget courage. But neither does
physical weakness too go to inspire it. Courage may be regarded as absolute quality of the
mind. For example, Gandhi and Christ, both were embodiments of non-violent force. Their
apparent strength lessness is but misleading. You might succeed in breaking their body
but not their mind. When the body is destroyed, the mind triumphs. The body of Gandhi
was broken no doubt. Gandhi was physically unimpressive. But the spirit of Gandhi

continued to triumph over the minds and bodies of those men who were physically superior
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to Gandhi. Guru Tegh Bahadur was like wise a courageous man. Shivaji was a

courageous fellow. On the other hand Sultan Mahmud Ghaznavi was no more than an

able man and a daring soldier. But he lacked courage in the real sense. An interesting

story of his life has it that he wept tears of frustration. When faced with the prospects and

approaching death. Thinking that death would carry him off to an unknown land where he

would be landed without his empire and his chest of treasures he asked for his jewels to

be spread out before him for a last minute review. Tears streamed over his cheeks at the

thought. Fearlessness is the greatest possible training of the spirit as Swami Vivekanand

says that fearlessness is the greatest religion of the world.

Questions:

(i)  Why has courage been given the place of honour?

(i)  Is courage a physical state or mental state? Explain.

(i)  How was Ghaznavi a timid fellow?

(iv)  Who were the embodiments of non-violent force?

(v)  What according to Swami Vivekanand is the greatest reliogion of the world?

(vi)  Find synonyms of the words given below from the passage:

(i)  Friend
(i)  Respect
(i)  Coward
(iv) Complite

SECTION — B (Writing)

[2]
[2]
[2]
[2]
[2]
[4]

Write a notice for the culture programmes to be held in your school, mentioning the date,

venue, time and items to be held.

OR

[5]

Write a message on behalf of your mother telling your brother to reach your uncle’s house

for dinner tonight.
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Write a paragraph on how can we make our surrounding green, pollution free and
environment friendly. [5]

OR

Write a report in about 120 — 150 words on a “one day match” played by your school team.

You are Mahadev residing in room no. 10 in a hostel. Write a letter to your elder brother
describing the annual prize distribution function of your school. [6]
OR
Write a letter to the District Health officer drawing his attention to the insanitary conditions
prevailing in your locality.
Write an article for your school magazine on “Safe Driving”. Take the help of the following
points: [7]
o Follow the lane
e  You save petrol
e  Continuous flow of traffic
o Save money
e  Cut down the risk of accident
e You reach your destination faster
OR

Write a short biography of Dr. A.P.J Abdul Kalam under the following headings:
o His parentage and education
o His contribution to India’s most important works

e  Asthe president of India
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Q.8 Write an essay of 200-250 words on any one of the following topics: [7]

(i)  Un employment problem °
(i)  Value of Games and sports
(i)  Wonder of Science
(iv)  Any Great leader
(v) A visit to a historical place
SECTION - C (Grammar)
Q.9 Fillin the blanks using the correct words given in brackets: (any ten) [10]
(1) YOU e drive carefully.(may, must, can)
(i) Strikethe iron........coooiiiiiii it is hot. (before, while, as long as)
(iii) Tcannotjump........cccovevinininnenen. .I'have pain in my stomach. (as, because, while)
(iv) Putthe keys............... you can find them without any difficulty. (Where, when, what)
(v) Both pens are good. Give Me.........ccouvviiiiiiiiiiiiiieeee, (any, some, a few)
(vi) I'cannot Attend school............ocoiiiiii, [ am ill. (because, so, before)
(ViI) PlEaSE ...ouiieei e come to my home. (did, do, does)
(viii) He leaves for Bombay today..............ccccovevenennnn. ? (Don’t he, doesn’t he, didn’t he)
(IX)  MEBra ... late every day. (come, comes)
(x)  He openedthe bOX......c.ccveveiiiiiiiiiiiiiiinieaa, took out his shirt.(but, and, over)
(xi)  Thetrain iS COMING......ouiuiiiiii e Allahabad. (From, for)
(X)) AMIE IS e than Sohan. (tallest, taller)
Q.10 Do as directed: (any five) [5]
(i)  Kamal has played cricket (Change the voice)
(i)  Kavita goes to school by bus. (Make a question beginning with ‘who’)
(iii)  We will buy a new car. (Rewrite the sentence using going to + verb)
(iv)  Your mother is too weak to walk. (Rewrite the sentence using ‘so...... that’)
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(v)  He likes sweet. (Add a question tag)

(vi) Harshit was reading a book of English. (Change the sentence into past perfect
tense)

(vii)  We must obey our teachers. (Rewrite the sentence using ‘have got to + verb’)

SECTION-D

Q.11 Read the extract of a poem and answer the questions:
May that which guides men like a good charioteer?
Who controls fleet footed horses with the reins?
That which abides in the heart, most swift and active,

May that my mind resolve on what is good.

Questions:
(@) The poem from which these lines have been taken is: [1]
(i)  Goodwill

(iiy If
(iii)  To the Cuckoo

(b) The one word used for, ‘a long narrow band usually of feather by which a horse is

controlled’ from the extract is: [1]
(i) abide
(i)  fleet
(iii)  reins
(c) InWhat sense is the word ‘mind’ used in this poem? [2]

Q.12 Read the extract of the poem and answers the questions:
If you can dream and not make dreams your master,
If you can think and not make thoughts your aim.

If you can meet with Triumph and Diaster,
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And treat those two impostors just the same.

(@)  Whom is the poet addressing in the above lines? [1]
(i)  People
(i)  Himself

(i) His neighbour

(b) Name of the poem is: [1]
@iy If
(i)  Gitanjali
(i) Goodwill
(c) How does the poet want ‘you’ to treat Triumph and Diaster? [2]
Q.13 Answer any one of the following questions in 120-150 words: [5]

(@)  Which was harder to get pie or the tart? Why?
(o) How did the mathematics teacher prove that he was more ‘shrewd’ than the former
pupil?
Q.14 Answer any four of the following questions: [8]
(a) Did the Swallow go to Egypt? Give reasons?
(b) What is Bacon’s advice on extra ordinary expenses?
() When does a society become static?
(d)  What did the doctor say to sue about Johnsy’s illness?
()  Why would Hellen like to let her eyes rest on the face of a baby?
Q.15 Answer any one of the following question: [4]
(@) United we stand, divided we fall’ elaborate the thought.

(b)  An artist can die but her/his art remains immortal. Elaborate the thought.
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All questions are compulsory.
Q. No. 1 to 5 are objective types questions.

Internal options are given in Q. No. 6 to 26.

Marks allotted to each question are mentioned against the questions.
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[100]

TE! SR gAY feTRau—

Choose the correct answer-

() aT H=RI BT ANT 25 IR F<R 7 & dl 9 TN BRI—
(a) 20 3R 5 (b) 18 3R 7
(c) 15 3R 10 d) 9 3R 16
If sum of two number is 25 and its difference is 7, then the numbers are-
(@) 20and5 (b) 18and?7
(c) 15and 10 (d) 9and 16
(i) x=7y ®§ x & A AT PITT AT y BT 79 0 3R 1 8-
(@ L7 (b) 0—7
(cy 0,7 (d 3,7
In x = 7y find the value of x if y is 0 and 1-
(@) *7 (b) 0,-7
(¢ 0,7 (d) 37
. 7 _ay2 _ ..
(i) ¥ o X =22 ¥ gfer @ AT Bfi-
X< +4
(@) 6 by 7
(c) 2 (d) 4
. . . x/ —6x2 -2
The degree of numerator in rational expression 2.4
X~ +
(@) 6 (b) 7
() 2 (d 4
. 2 _ 2
(v) TR e XX_21 3R XX_+21 BT AT B—
x2 2
(@) - (b) =
© 25 @ T ¥ B T
. . 2 _1 x2 +1
Sum of rational expressions and are-
X-2 X—2
@ X 0 -2
X-2 X-2
(c) 2x (d) None of these
X-2
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[100]

(v) 36 3R 49 P HLATURI o—

(@) 6 by 7

(c) 42 (d)

[IRN

The mid proportion of 36 and 49 is-

(@ 6 (b) 7
7
© 42 @ <
TP 9 I Uh a1 H IR ferlRau— (1X5=5)

Write the answer in one word/sentence of each-

(1) Th HMR & MR H 20 9. & g W AR & RBRIR HT I PIor 45°
2| MR &1 Sars /T Br?

If at the distance of 20 meter from base of a tower the angle of elevation of top of the

tower is 45° then what will be the height of the tower?

2) TP 99 BT AT 14 FH. qAT A8 7 A9 © d9 Sl BT AT T BITT?

If diameter of a cylinder is 14cm and its height is 7cm, then what will be the volume

of cylinder?

(3) WiEel el BT AT FIT BIT B°
What is the volume of hollow sphere?
(4) afg dfF UeTol x, x +2, X+ 4, X+ 6,x+8 T AT 11 & Al x BT AN HTd B |

If mean of five observations is x, X + 2, X + 4, x + 6 and x + 8 is 11.Then find the

value of x.

(5) U U B BHd W 4 H §ST b M B UIAHAT ST HRIP

On tossing a dice find the probability of getting digit more then 4.

Page 3 of 12 (24900)



93

U4

[100]

Raa =i &1 gfd Sifom— (1X5=5)
Fill in the blanks-

() I QT PRSI & FIT DIV GRIER BT AT T8 .o
............................................................................................................................................ HEARI © |
If corresponding angle of two triangles are equal then, triangles are.........
(i) T FERY RS & &A%l BT AU 9:116 @ IIIUTd # BI, Al g BRI Bl
SRR 1 L2 B 1 OO, BT |
If ratio of area of two triangles is 9:16 then ratio of their corresponding sides
L=
0D R EL LIRS G a2 B 2 T S = =
The rate of interest of educational CesS iS........cccveveiiiiiiiiii e
O I E 1= 1 o | B 1131 K B 1 A BIT B |
Value of compound interestis ..........coooviiiiiiiiiiiie, of simple interest.
(v) Tt ® e R T T B R T BT B |
Amount paid in instalments is ...........c.cooiiiiiin than the cash payment.
frfaRaa a1 J81 Sifedr I gu— (1X5=5)
(1) Q)
(1) 12 P 5 cot 0
sec“® cosecO
(2) sin (90° - 0) tan® 0
(3) sec?O-1 cos 6
4) 1-cos?6 1
(5) cosec 6 sin ©
secH
Match the correct pairs-
(A) (B)
(1) 12 P 5 cot 0
sec“®  cosec“O
(2) sin (90° - 0) tan® 0
(3) sec?O-1 cos 0
(4) 1-cos?6 1
(5) cosec 6 sin 6
sec 6
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[100]

frfeRad @ 9 / 3 Bledr folRau— (1X5=5)

Write true or false in the following-

() @ FHERT & fAfdades gqtEe 81 dF g aRdfdd 8id 3 |

If discriminant of quadratic equations is positive then its roots are real.

(iy I <7 gl o W Ga e 8 A d god FaiTad B8 |

If the radius of two circles are equal then the circles are congruent.

(i) T B FIW TSI SiaT AT A 7 |

The largest chord of a circle is radius.

(iv) <rEETe H faRd BT =g PIvT BT 2 |

The angle formed at major arc is an acute angle.

(v) I B FEE SIAQ s U AN BIOT ART Bl 7 |

Equivalent chords of a circle subtends equivalent angles at center.

el TmaIoT By § &0 @ A 5 WAL B, SHDT AT YOIl BT U 1 : 2 T,
ST TRH BT A H1T BT | )

If hypotenuse of a right angled triangle is 5 cm and its remaining side are in ratio 1:2 then
find values of sides.

3ierdr / OR
ST ABC Td |Afgag el 8 ROH AC = BC AT AB? = 2AC? @1 g &I 1%
3 ABC T& |HIVT B3 7 |

A.ABC is an isosceles triangle in which AC = BC if AB® = 2AC? then prove that AABC is
right angled triangle.

a1 9ASY Byl ABC T 2R[ST PQR B 1 S99 &F%d HAS: 367 Tl 81 JAI
2| If< QR = 4.5 AH AT Yo BC & A ST B ()

If A.AABC and A.PQR are two similar triangles. lts areas are respectively 36 cm? and 81
cm? If QR = 4.5 cm then find value of side BC.
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312041/ OR
Al ST ABC @1 YoIl AB ¥ 3id: fd=g D $9 UdR = b AD : DB = 3:2 Yoil BC
f5 E 39 UBR & f& DE || AC B AT 91 10 HIFTT A.ABC & &%l / ABDE I
PRI

The internal point D is of the side AB of a A.ABC such that AD : DB = 3:2 A point E is
onside BC. such that DE || AC then find value of area of A.ABC/area of ABDE.
20 IR IRl U Il U 9ae &1 Rasdl d& ugdnil & Sl A F 15 Hex &I

AR W | 999 9 A & Fae RR & &0 F1d ST | 2)
A 20 meter long ladder reaches upto window of a building which is 15 meter high above
the ground. Find distance of lower end of ladder from foot of building.

3191 / OR
TP G TH aE @ T B Suer FEer R GaR ¥ 5 #iew o W ¥ ek
IHHT FUI RRT S A 10 Hiex 41 Rasd! T@ ar © el &l ol §a

BHIFTY |

A ladder is placed in such a way that its lower end is at distance 5 meter from wall and its
upper ends reaches at a window which is at height 10 meter from the ground. Find length

of the ladder.
AfE 6, 4, 7, x T 10 T AT 8 & Al x BT A S DI | 2)
If mean of 6, 4, 7, x and 10 is 8 then find value of x.

31e1dT1 / OR
fr=ferRaa aMT &) afegeT SiTd HIfTu—

15, 35, 18, 26, 19, 25, 29, 20, 27

Find the median of the following observations-

15, 35, 18, 26, 19, 25, 29, 20, 27
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912

U.13

[100]

Find probability of getting even digits on throwing a dice.
3141/ OR

gl Rgdhl Bl T G IVTeH TR Sl RIFpl IR BS M B UI¥pdr =1
HITY |

Find probability of getting head on both if two coins are tossed.

g PINTY fF g & s qAT g &I Sl & Feg 95, 31 A arell & g
@Y Sfiar W ofq Bl 2 )

Prove that the line joining the center of a circle to the midpoint of a chord of the circle is

perpendicular to the chord.

31791 / OR
I god B WY QT B THME, Sl god @ D H 59U B ¥ R Rerd a1y
g & 4 99§ | O g @ A1 S| B |

The length of a tangent drawn from external point 5 cm apart from the center of the circle

is 4 cm. Find the radius of the circle.
g P & foelt qrea fag o i 18 el <l & ovars aR1eR &1l 7 1(3)

Prove that the two tangents drown to a circle from an external point are equal.

3gdar / OR
g PINTY & FEged BT BT FHBIT BIAT & |

Prove that the angle subtended in a semi circle is right angle.
fag Q31w BT AR ART FTT B | (3)

I ANTT | 0—10 | 10—20 20—30 30—40 40—50
JTIT 7 10 15 8 10

[

Find the mean of the following distribution

Classinterval | 0-10 | 10 - 20 20 - 30 30-40 40 - 50
Frequency 7 10 15 8 10
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31fdr / OR

feraforRad ariehsi &1 ageld =T B |

T =Nl | 140—150 | 150—160 | 160—170 | 170—180 | 180—190

IRRAT 4 6 10 12 9

Find the mode of the following frequency table-

Class interval 140-150 | 150-160 | 160-170 | 170-180 | 180-190

Frequency 4 6 10 12 9

g14 A AU U 3l W 1990 & IMER W 1995 HI aie @d gadied @14

PHIoTg— (3)
EAS| A B C D E
A= (fBam. #) 08 05 12 40 18
1 (% H) 1990 aY | 30 28 06 09 10
gfer fa.am 1995 Y | 45 36 11 15 12

Calculate the cost of living index number for the year 1995 on the basis of 1990 from the

following information-

ltem A B C D E
Quantity (in Kg.) 08 05 12 40 18
Cost per unitin¥ In 1990 | 30 28 06 09 10
Per kg In 1995 | 45 36 11 15 12
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31141 / OR

fr=forRad SRFRAT §c BT HIET 495 & P HT HIF ST N |

T SRTA | 25—35 | 35—45 45—55 55—65 65—75
CISCIEGI 6 10 P 12 4

The mean of following frequency distribution is 49.5. Find the value of P.

Class interval | 25-35 | 35-45 45 - 55 55-65 65-75
Frequency 6 10 P 12 4

HHBROT BT PHIMT— (4)
Solve equation-
x—2y=1
3x+4y =15
3141/ OR

o FHiRor Mg &I gt PifoTy—

Solve following system of equation-

X+2y=-1

2x—3y =12

a BT A ST HITT 59 & oIy BRI ax +y =5, 3x +y = 1 BT 3IfgT & 2 1(4)

Find value of a for which the system of equations ax + y = 5, 3x + y = 1 have a unique

solution.

3Idr / OR

a1 ARIT BT IR 7 2| AR BT AN 9 AR BT 7 AT § Al SN AT
BT |

The sum of two numbers is 7. If its sum is 7 times of its difference, then find the numbers.

aﬁuzgﬁﬁx:ymﬁﬂﬁﬁWI (4)

X=y

If y = %then find the value of x : y
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31211 / OR
ﬁ%:%ﬁaﬁ%@wﬁs—

a2 +b? b2

c?+d®  d?

If a_¢ then prove that-
b d

a®+b® _ b®
c?+d®> d?

918 FHIDHRT X2 + 3x — 18 = 0 Bl [urEvs A F g1 BIfSY | (4)

Solve following equations by factorization method x* + 3x — 18 = 0
3141/ OR

o T B G Ay & g1 BRI

Solve following equations by formula method-

3x-§ =-8
X

U19 g0 ¥ WS T AT & BT IAD! S5 DI /3 AT &, o S9 99 g BT

S~ DI T BRIT7 (4)

If shadow of a person standing in sunlight is J3 times of his height, then what will be the
angle of elevation of sun at that time?
31e7d1 / OR

el g & 200 WeR @1 O R R fHAT ereR & 2T BT I=17F BIoT 45° &,
dl TR BT HATs Sd DI |

The angle of elevation of the top from a point 200 meter away from the tower is 45°, find

the height of the tower.
920 AT a RIS, b AISIS AR ¢ SHaTs dlel TN BT A V TA F9Y01 U S &1

frg piforg foo— @
A cuboid of length a, breadth b and height ¢ has volume V and surface area S then prove
that-

1 2(1 1 1]
—_ = — | — 4+ — 4+ —
\Y, sta b ¢
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34T / OR
U dol- BT 3MITT 207 O W dAT 39 MR BT &%l 47T 997 JH. 8| 39

doT BT ThYS A DITOTY |

Volume of cylinder is 20n cu. cm and its area of the base 4rn sg. cm. Find out its curved

surface.
4 I 9 35T SR 2 99 IR ST arel Wikgel Mol BT fUgeiar 8 O
A & 2 | uRalda fbar T €| 2q B S A DI | (4)

A Hallow sphere of outer radius 4cm and inter radius 2 cm is melted and converted into a
cone of diameter 8cm. Find height of the cone.

312141 / OR
9 319 Mol 9T o A 3 I8, 4 991 iR 5 91 8 S= fUgdiay Uah
TIAT §91IT AT | el &1 F35a1 U IMId= SiTd bIfvu |

A solid sphere is made by melting three solid spheres of radii 3cm, 4cm and 5cm. Find the
radius and volume of the solid sphere which is formed.

OTTETS HIFTY ()
Factorize-

a®(b+c)+b?(c+a)+c?(a+b)+3abc

31fdr / OR
UGS BIFY

Factorize-

X (Y2 + 2% +y (22 +X°) + 2 (X® +Y°) + 2xyz
2000 % BT 10% Ufray Fshglg &6l & &) W 2 99 BT AL 9 Fhdlyg ol
ST BIRTT | ()

Find amount and compound interest of ¥ 2000 after 2 years at the rate of 10% per annum.
3141/ OR

IfE PIg &= 3 991 12;2 T[T B ST 2, Sdfd TS BI 0T arves Bl g T,

A TST BT & ST BITY |

If any amount goes up to ?Tgtimes in 3 years, calculate interest rate when it to be take as

annual rate of interest.
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.25

U.26

[100]

T 6T 3R IqD Ghd BT N 5—70 2| AT 9d BIY | (5)

Sum of a number and its inverse is 5—70 Find the number.
341 / OR

wa@ﬁw&wmaﬁ%%l@%ﬂﬁml

Sum of a number and its inverse is % Find the number.

T ST B qoU 4 A, 6 T IR 8 T T | SHHT uRId I Hify | = &
uq Y fafay | ()

A Triangle has sides 4cm, 6cm and 8 cm. Draw a circum-circle to it. Write its composition
also.

31qr / OR
TP qHATg BRS & Ia g Wi Rraa! Yo owarg 8 A9 81 o &l e
BT A F1d DI |

Draw a circle inside an equilateral triangle whose sides are of length 8 cm. Find measure

of radius of the circle.

AN (6)
Prove that
A A

cosec cosec — 2gec A

cosec A -1 cosec A +1
34T / OR
HHIBRUT T BIfSTU—
Solve the equation-
2 2
3cos“ 06 N 3cos“ 0 — 6cos 6

cosecO+1 cosecO-1
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[5]

[5]

[5]

(100)

-

o EQsK49.5136 (v)

(b) 6 (a)
6 (d 42 (c)

LS MR AR LS LT 2l

b
.
< 4:'171:.,g;,,ly,(l,g;,/,g,,l(,‘qjgn, w8 (1 (i)
‘ b DAL AT A A ™, Chay4 \"

st Big it

I ENE e T3 4B (i)

—c el AR SES i)

XA A1ba1E X,x42, X+4,x+6x+8 UnslELS  (iv)
i

U6 Tulz e 4y é”*fc’_g..p (v)

~& ALY6 340

-ujZ_M---wo)?n/.’/.é—:ljdﬁd:u%;ﬁ (i)
‘l.’;b"",.u:? 9:18§ i Arse lflﬁz’lén.

NI (ii)
(CER Al NS S S0 \11)

ceeer B EL

e U i
et mnied S (i)
-g.&n----caﬁfzéﬁ/bluﬁuﬁ (v)
_uyﬁg 441y

B A
1 . 1 (i)
Cat 0 Sech Cosec?0
tan% Sin (90-6) (i)
Cos 6 Sec0 -1 (iii)
1 V/1-Cos’h (iv)
Cosect
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(100)

e bl LS e 5l
LunGrinadD)Feblt,r ()

L u;'zJ&LQ./’bu;u!Zu L..{/’.»_w Ku,v’b»/i (i)
e B dIRSre rfe 2t (ii]

Ut Lol imslissiz S 2y (iv)

Uk UL g Aol S 2 (v)

U164:2 BRIV L Ui 5 St e i 2657 64U
e i S S
"OR" "
=t 3 AB’= 2AC? SIAC=BCUA e A A UIGII[IABCEL:
—e el A IABCY e s S
ftug(é/m/,u36.,;)1g,ijéulugPQRwJ,tABcw(,w)uu{» 7 Ay
sJp# = § BCin/ QR=45
"OR" "
AE B ABCE’3:2=AD:DBS% L AUID S bt OBL L ABCEL s
36 /\ ABC /3§ BDEA _& =3 JuDEIIAC S LAY
Srectie 15 e hine Qe FE A St liS L5420 841

-’cf‘:(r)”‘ dwd/; /{ié
"OR" “L”

ui:’/b'f1 04;d.‘.'ﬂ/d/?)’KJU:’{.{(}/})}.’:SLJ'g)nyKJU/%f@@/I’J’J/f.‘bg
R Ty a1
_/;AI-A e l/ bt o WA i~ oA = ﬁ .~ ;IA
- & (e U X9 8LIE 10.16,4,7x /1 19 AUl
"OR" “.L',,
5,')"‘(Median)glb/:&):5g/ﬂ
15,35,18,26,19,25,29,20,27
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"OR" ‘("
LG YKL Ty U U 1AL L0
[3] Ui hdZE Yl 12 s Spl e St A Al
_‘aaf;f/?b;? d/;/’b
"OR" ‘("

.

%)ﬁf{dlﬂd/f5 L}'}Lgﬂ)ﬁél:)d/u’lfbic/’bﬁ
-ép"”ﬁﬂ&./’b;‘ér/4¢;2dﬁt

3] -uzémuugw/u’%ﬁiéﬁdﬁw{féiw‘ 124 )
"OR" “L”

o

e b PG sl e sl e Hoid S o
el e s 134

3
B3l J1£IU16 {010 | 10-20| 20-30 |30-40 | 40-50
S5 | 7T | 10 | 15 8 10
"OR"“&”
_ZE ek (Mode) o &) o
Ji£IU | 140-150 | 150-160 | 160-170 [170-180 | 180-190
5400 4 6 10 12 9
[3] R I A 61995 1990 sl 2 sE 4L )y
2 A B C D E
(e | 08 | 05 | 12 | 40 | 18
SUged 1990JL- | 30 28 | 06 | 09 | 10
SUned 1995JL- | 45 36 | 11 15 | 12
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[4]

[4]

==
i+
e

(100)

"0 R" “&”
_Eped (P 495Kkt 5T f 50

Js£IU1 | 25-35 |35-45 |45-55 | 55-65 |-65-75

s | 6 (10 | P |12 |4

EESenle 154
7x-2y=1
3x+4y=15

"OR “\”
_ESE IS o

x+2y=-1

2x-3y=12

a3 axry=t sl axay=5 6L L S el §a 164

“OR“ “L”
eI T LGP 26 e T2 6oLy

+

o P X z o
ér)"‘:«f‘fx:ym XT; =713 1174

IIORII “.l:”

S 3 S iz x2 +3x-18=0= s 118 41y

Se W

"OR" “.L'”
_édﬂcugf&.ufabv‘,f“}g/ﬂ
3x-3 =8
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[4] 3K L tint, . 30U S8 T L St 194
"OR" “.L",
-ép‘"‘él{;'d?;t‘?ﬂ450)’/:::')Kdgd/ut‘gfgﬁr/?dju‘f/'fZOOQgJ(

[4] Sz cf.l:‘?nsi/‘ﬁ;i?nvlf KVJL’)&Lj;lC/:IJngbJ.LJaﬁ 20,1y
1 211 11
v =+lz* 5"
"OR" “.L",

é()l’”&&}d/@‘u’l‘aﬂf/4ﬂ JJK;}G’LUU;I%(‘&JZOR f&ﬂ.@

4] FBIE AL SIS 2L W BdS s 214
_é")l"(jl{)id/bﬁf‘a KU,QU:L}}‘L/';

"OR" “Lf”

L EAS I B B¢ 3 AP aIL PLASASE
b B e S

g e pe iz 224
a2 (b+c)+b? (C+a)+C? (a+b)+3abc

[5]

"OR" “.l:”

A VYAV {
X(y2 +Z2)+Y(Z2 +X2)+2(X2 +Y* )+2X YZ

- v B2 LA oI $10%6 22,2000 2341
R
l'OR" “L’,
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[5] Sk 126,71y
CoSeCA CoseCA
—  + ————— =2Sec’A
CoSeCA-1 CoseCA+1
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3Cos? 3Cos?
3L0s70 + 320870 =6Cos0
Cose 0 +1 Cosec-1
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Hl Tl DI H=AT : 20 HA TSI BT F=AT © 08

Total No. of Questions: 20 Total No. of Pages: 08

Bgwhel e, feamR— 2017
200
fawa : fasm=
Subject: Science
(Hindi & English Versions)

| : 03 TS quifes : 075
Time: 03 Hours Maximum Marks: 075
fader —

() & geT S &/

(i) T HHEH 1 @ 4 TF TGO J97 & FAF F97 5 3 BT 8/

(iii) o7 HHF 5 @ 20 TF s [Qeeq &I T &/

(iv) F%7 HHIH 5 @ 8 TF Jdd J97 & 2 3/F & T TV AT TTHT 30 I
g/

(v) T HHE 9 & 12 TF JAB J97 & 3 3iF & T GV AT TTHT 75 IT
g/

(Vi) FIT FBHIF 13 G 17 TF JAF F97 & 4 3P & T IV HET TTHT 120
T 8/

(vii) FFT FHF 18 & 20 TF JAF F97 & 5 3F & T IOV HET FTTHT 150
T 8/

(viii) CTET 3TaeYF & ¥qeF g FHIHT 37 TFV/

INSTRUCTIONS: -

[200]

(i) All questions are compulsory.

(ii)  Question Nos. 1 to 4 are objective type. Each question carries 5 mark.

(iii)  Internal options are given in question Nos. 5 to 20.

(iv) Question Nos. 5 to 8 carry 2 marks each, word limit is 30 words for the answer.

(v) Question Nos. 9 to 12 carry 3 marks each, word limit is 75 words for the
answer.

(vi) Question Nos. 13 to 17 carry 4 marks each, word limit is 120 words for the
answer.

(vii) Question Nos. 18 and 20 carry 5 marks each, word limit is 150 words for the
answer.

(viii) Draw neat and labelled diagram wherever necessatry.
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U2

[200]

Raa el @t ‘Iﬁ PITT— (1 X5=5)

[ N, JqH D frarHe Td WRAAHS DS ¢ |
(ii) L czs 20 forves g 2 |
T YOO frae Ricak 1w B |
(V) TRIROBT T 3 BIAT & |
IS LU 3 PHEAT 2 |
Fill in the blanks:—
(1) e is the functional and structural unit of kidney
(1) et fertilization occur in frog
T P is also called Quick silver
(V) e acid is present in Vinegar
(V)  Group of stars is Called...........oenininie i
|l fdhey gfe— (1X5=5)
() T BT SHAT AfAfhar 8—

@) e e

@) < srtwfdar

(|) UTeTH STffhar
() ST At
(iy Frec gfe 3w H ygad Bar &—
(@) SAd of¥
@) ergdd o«
@) A o
() S wh
(i) fIeEa amT @1 SIHES B
@) fdararc
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[200]

(iv)

(ii)

(i)

LPG &T YT dId o—

Choose the right option:-
Freezing of milk is a-

(a) Slow reaction

(b) Fast reaction

(c) Backward reaction
(d) Forward reaction

In myopia (short sightedness) lens is used-
(@) Convex lens

(b) Concave lens

(¢) Normal lens

(d)  Above all

Sl unit of electric current is-
(a) Kilowatt

(b)  Ampere

() Ohm

(d) Watt
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(iv)  The main component of LPG is-
(a) Methane
(b) Propane
(c) Ethane
(d) Butane
(v)  The insectivorous plant is-

(a) Utricularia

(b) Lichen
(¢) Fungi
(d) Sandal
U3 W ST aEii- (1X5=>5)

A ~

(i) SHladh (a) wfsIm

(i) SfaaT U (b) gEwla

(i) PrEA (c) WNERN

(v) FRar @1 fEfr (d) g

(v) fcfshareie arg (e) B UM

Match the column A with column B-

A B
(i)  Producer (@) Sodium
(i)  Jovian planet (b)  Jupiter
(i)  Carbon (c) Carnivorous
(iv)  Formation of Urea (d) Earth
(v)  Highly reactive metal (e) Green plants
(f)  Liver
(g) Catenation power
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U4

U5

.6

7z

U8

[200]

TP ec /qMFR | IR QIf0— (1x5=5)

() O wEr U fhae forar?

(iy Brwer ol T # dHE-3H | U ST fey Sa 8?
(i) @Ol B JEAT Bl fhad Faq fear Siar 87

(v) RBC &1 qxT A forfay |

(v) B9 d=iie @1 AW forReay, R fagqd svees & form ufauriea fay |

Answer in one word / sentence: -
i)  Who has written the book ‘Aryabhatiya’?
i) Which plants are used to make ‘Trifla’ powder?

iv)  Write full form of RBCs.
v)  Write name of the scientist, who started the laws of electrolysis.

JhTI & URIGAT I RIT AfAUR 8?7

What do you mean by ‘reflection of Light'?
31741 ~OR

ST TUT & PIs &l ST fIlRey |

Write any two uses of convex lens.

foag fed aed 87

What is called potential?

(
(
(iii)  In what terms purity of gold is expressed?
(
(

41 ~OR
31 fagd Suaxvll & A faRay [ faega ge &1 SuanT fear Siar 272
Write the names of two electrical appliances in which electro magnet is used.
g @ 2°

What is ‘Fermentation’?

91 ~OR
qgAD AT 57
What is Polymer?
uTiefa g & DIs &l Tl IRy |

Write any two features of terrestrial plants.
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9.9

9.10

g1

12

[200]

AT OR
IJIR SUUE T 87

What is Telecommunication satellite?
T U9 3eTg & Wifae o ¥ iR forfay | @1 @) (3)
Write the differences in physical properties between metals and non-metals.
341 ~OR
crsefram &1 oEfad g R’ wEd 27
Why Titanium is called strategic metal?
YT [eTRUT Ud S T 57 ST T S g3 falay | (3)
What is Corrosion of metals and Rusting? Write the chemical formula of rusting.

312041 OR
s arg P9 wed 27 @I & s grgell & M, 3fagdl d@ Ud Udh SUAN

ey |
What is called Alloy? Write one use, composition and name of any two alloys.
A, qoredl Td sifaer @ sivwea SuEE iR | @)
Write the medicinal use of Neem, Tulsi and Amla.
3491 ~OR
I 9T & TR IR yod IRy | Brg A |

Write the effects of Acid rain on environment. (any three)

Tl ST T @Te STl dl GRITT BRY | (3)

Define food chain and food web.

31eraT SOR
Ul T R? IR Ul TR Rl & Sur fRkav | (@IS <)

What is pollution? Write measures to control air pollution. (any two)
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U.13

U.14

U.15

.16

.17

[200]

fOsH gRT @ & gbrer & quf faegor &1 o 9918y | (4)
Draw the diagram for dispersion of sun light through prism.

a1 ~OR
IR<fae ufafde ok R ufafde § @ ofaxk a1 srHHar 2° failay (@l @)

What are the differences or dissimilarities between real image and virtual image? Write

any four

el T @ fagld UfcRIy &1 yWIfdd &% aTel dRS 7 27 foikay | (4)
What are the factors affecting the electric resistance of a conductor? Write it.

a1 ~OR
b el DI AT FrE a8 |

Draw a labelled diagram of a dry cell.
TSI Feaaw g Ao s # $Is 4 3R fofy | (4)
Write any four differences between nuclear fusion and nuclear fission.

31741 ~OR

AR PR D SUANT H FIT A 22

Write the benefits of using solar cooker.
Urefie 9 Bl AMifea o 918y | (4)
Draw a labelled diagram of a typical flower.

312a1 ~OR
JHRINCH TURIF T AHifdhd = 9918y |

Draw a labelled diagram of a Eukaryotic chromosome.
UehIEd & hlg IR STANT fIlRey | (4)

Write any four uses of alcohol.

3491 ~OR
ATg Ud UATSI H Bl IR AR IRy |

Write any four differences between soap and detergents.
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U.18

U.19

.20

[200]

STHHANT T STHAMNT BT SETeRYT |fed forRay | ()
Write reversible and irreversible reactions with examples.

3d1 ~OR

RIS ARG 379 9T |ASKI &7 pH U9HT 3T 87 g I &l pH AN

forfag |

What do you understand by the term chemical equilibrium? What is pH scale? Write the

pH value of pure water.

YT HAT 27 A9 & Uls S dTell UTad U™ & A9 Ud S99 91U S Tl

U AT & A9 forRey | (5)

What is nutrition? Write the names of digestive juices secreted by digestive glands founds

in human beings.

3d1 ~OR

HqOll, Dgall, fESST A1 BIe, g1 Vd T & a9 3 & M fafay |

Write the names of respiratory organs of fish, earth worm, grass hopper or insect, rat and

human.

G & Urd d1 felRey | (5)

Write any five functions of blood.

a1 ~OR

gadh & Dls Ui BRI fRay |

Write any five functions of kidney.
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Total No. of Questions: 26 Total No. of Pages: 12

I : 03 TUS
Time: 03 Hours

BIS Whel e, R — 2017
300
fowyg : " fasm=
Subject: SOCIAL SCIENCE

(Hindi & English Versions)
quTies : 100

Maximum Marks: 100

fAger—
(V)
(ii)
(iii)

(iv)
(v)

(vi)
(vii)
(viii)
(ix)
Instructions:

(i)
(ii)
(iii)

(iv)
(v)

(vi)
(vii)
(viii)

(ix)

[300]

i geT A &/

¥ 97 H 77 T4 AR FIGEAYEd® GeHY Fe & I [oifeav |

e #1 & 5 TF qeglIe V9 S &/ 9AF 97 5 3 BT 8/

FoT 5X5 = 25 3F &/

o7 #. 6 | 26 # nara RA&ey 3 12 &/

T &, 6 W 10 G SfdTgaid F99 &/ TIY P T A9 30 &/

q% g9 9V 2 3 Jraied &/

e & 11 W 14 TF THITIG, J¥7 &/ AT FIT ¥ 3 & IECT &/
IV B T AT 75 T 8]

7o & 15 ¥ 21 TF e GG, F97 &/ FAP T U¥ 4 F F@icd &/
TV P IT AT 120 T B/

JoT &, 22 ¥ 26 G% JE FANT FIT &/ AP FIT GV 5 & IGicd &/
IV B T AT 150 T 8]

77 . 22 P F% QY TI [FRAGHR NG & V@7 qAEF I7 G/

All questions are compulsory.

Read the instructions of question paper carefully and write their answers.
Question from 1 to 5 are objective type and compulsory. Each question carries
5 marks. Total marks are 5x5 = 25.

Internal options are given in question from 6 to 26.

Questions from 6 to 10 are very short answer type questions. Word limit is 30
words Each question carries 2 marks.

Questions from 11 to 14 are short answer type questions. Words limit is 75
words. Each question carries 3 marks.

Questions from 15 to 21 are long answers type questions. Word limit is 120
words. Each question carries 4 marks.

Questions from 22 to 26 are long answer type questions. Word limit is 150
words. Each question carries 5 marks.

Question 22 should be indicated on the outline map of India as directed.
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g1 Raa e a1 gid SIR— (1X5=5)

U2

[300]

@) A ST H UAH RATT YT HIRUTT 0T oo 27

(@) <ICT ARA T08 I BRI STARUGR oo I H Rerd g

(@) fafcer ¥¥e @ 1858 @ QRM & AR WRA &I UNET A Bl

3 22 ®I |
(CYRRSLE 1 TS IR B 225 A H AN fomar T |
(S) SMTD FABRT T TTAT B oo R # gfg Bl 7|
Fill in the blanks-

(@) e State of India ranks first in the Production of soyabean

(b) Tata iron and steel company Jamshedpur is located in the state of............cccccveeeeee.
() An ordinance passed by British Parliament 1858 India was placed under the direct

(7o) 01 (0] 1o ) FUTTE TP

(d) The consumer’s protection Act was enforced iN........ccccoeveeiiiiieieie e
(B) e of people increases by economic development.

A /T ddlgd— (1X5=5)
@n eMenfre 7 IafE MUY AMd e U £ |

@) RIS H DI RATIAT ISR 99 o HI?

(@) Hdred =araTery Hifdd AfTHRT BT AReTD ¢ |

(@) SiEnfire &5 o Uafde &85 H8 9T § |

(3) 24 REFR WRA ¥ VLR SUNIGT g & wU H FHRIT S0l © |

State True or False-

(a) Industrial and chemical disasters are man — made disasters.
(b) Ras Behari Bose founded the Forward Block.

(c)  Supreme court is the protector of Fundamental Rights.

(d) Industrial sector is called primary sector.

(e) 24 December is celebrated as National Consumers Day in India.
Page 2 of 12 (6130)



93

[300]

NEBSISIECRIED S (1X5=5)

‘ar o
()  HSOT AEIH @) TS ¢S HUeR
(i) TSR FHRT B GRIET AT (@) USiied IRAR
(i) ST9 BT (@) a1
(iv) 3R (@) wErER — U
(v) JARCS oAl €) #iferd dxa
Match the following pairs-
(A) (B)
(i)  Print media (a) World Trade Center
(i)  Protection of public property (b) Registered Family
(i)  Job card () Nepal
(iv)  America (d)  News paper
(v)  United telecom (e) Fundamental Duties
TP ardd H IR SIoTg— (1x5=5)

(@) Teiret ggrIl &7 YIRT 9@ @UR 3R M of —SIM W= AP B FT Hed of

@) <raex, ReErd, dE, 99, ol e & WA 69 UeR & H &F H M
2?

([) TH® & gRT fhad! yamoa fear Siar 27

@) fRIT ddhe & HRT YR § AMUIAHT fha+l IR ST AT 87

(3) AR srefayaven § fhd Yourell &I 19T AT 87°

Answer the following in one sentence.-

(a) What is prevention on drug consumption, their trade and trafficking called?

(b)  Which type of servicers are the services of Doctor, Teacher, laundry man and
Advocate, etc, called?

(¢) What does HALLMARK standardize?

(d) How many times has emergency been declared in India on account of financial
crisis?

(e)  Which system has been a doped in the Indian economy?
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o

U5 Wel fdmeu gady forRay— (1X5=5)
@) #Fa Haffed SUINT HRAT 8-

() A\ S
(i) FENNRIY STl
(i) Y& ST

(iv) d1g AU Sfel
@) 1857 & A AUH H §aai@rs A U AT A—

(i) @I RiE

(i) &R g
(i) TAT T

(iv) orEHgeel ©f |

@) YRT @ A # fHaw s 8-

() 395
(i) 345
(i) 370
(iv) 320
(@) AUy &I U 99 @ 9o A B

() 320
(i) 270
(i) 250
(iv) 230

(8) <ife wET # 9&T &I FHEd o
(i) HIer

[300] Page 4 of 12 (6130)



Choose the correct option-

(@) MAN USES ..ot the most-
(i)  Under ground water
(i)  Oceanic water

(iii)  Surface water
(iv)  Atmospheric water

(b) Main freedom fighter of Bundel khand in the freedom struggle of 1857 was-
(i)  Kunwar singh
(i)  Bakhtawar singh

(i)  Tatya tope
(iv)  Ahmadullah khan.

(c) How many Atrticles are there in the constitution of India.

() 395
(i) 345
(i) 370
(iv) 320

(d)  Number of members of the legislative Assembly of Madhya Pradesh is-

() 320
(i) 270
(i) 250
(iv) 230

(e) InLatin language money was known as-
(i)  Moneta
(i)  Godden juno
(iii)  Pecuniu
(iv) Pecus
[300] Page 5 of 12 (6130)



.6

uvz

U8

.9

[300]

TRAI I JaeT AR BT AT T} Bl Tg7

Why Indian Institute of Forest Management has been established?

3Ud1 /OR

QT BAdl & 7 dread 27

What is meant by food crops?

oTe Boid I IRIF BT DT AIfd IS ?

What was the policy adopted by Lord Curzon your Governance?

391 /OR

1857 @ TSN WU & TR wamsll & A 9aigy |

Name a few main freedom fighters who lead the freedom struggle of 18577

JATdGd BT YATH AGIgY! DI AMTRET A Ha fHAT ST &7

When is the applicant paid extra amount towords minimum wages?

3Ud1/OR

3l fdrT @1 AT & UHE AMUGUS B — DI I 57

What are the main measurements of measuring economic development?

qIIfid & Bl IITERUT ThR qHSY |

What is primary sector? Give example.

391/ OR

I RIS 5 ded 87

What is knowledge based society?
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9.10

g1

U12

U.13

[300]

AT BT ARTHR FT 57
What is Right to information?

311t / OR
IuTrdT el & IS a1 I IdTSY |

Write any two main benefits of consumer’s education.

a1 STy BT DY AT PR 87

How do forest control the climate?

3141/ OR
et wifar @@ 872
What is Blue Revoluation?

I MR SN BT Sl BT |

Explain forest based industries.

391/ OR

gTd & AR WR WSl Y&l & DI B F UBR &7

What are the different types of metallic minerals?

1857 B TAAdT HUTH DT dlchliold BIROT FIT 2AT?

What was the immediate cause of freedom struggle of 18577

391/ OR

9T — oIl — Tl 3 /T e 27

What is meant by ‘Bal — Lal — Pal’?

Page 7 of 12

)

)

)

(6130)



U.14

U.15

U.16

.17

[300]

I DI RAYAT S BT I A? (B 1) (3)
Write main objectives of establishment of congress?(any two)

31e0dr/ OR
fafcer TRBR gRT IoR T FHIGI IR & BRI A ARAI I JEIE U2

Why were the Indians unhappy with social reforms introduced by the British Government?

Hed ATl B SMYUN TR I fhdd YR & Bl &2 (4)

How many types of industries are there on the basis of raw material used?
31dr/ OR

I-UuUT &I PRI &1 & IR U forRay |

Write any four measures to control land pollution.

GRaET & A AT GRIdT BT U P yg—yeid by 27 foIfay | @)

The means of transport are the guiding factors for the progress of human civilisation.

Explain.

a1/ OR

IFRTETT AR BT JATAT B Il HRBI BT guIF BT |

Describe the factors that affect the international trade?

TR H T dTell 3T & 9919 & Iy IR Uy forfeay | (4)

Suggest any four precautions to prevent fire in home.
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U.18

v.19

.20

[300]

a1/ OR

¢ MUl BT Faf=d &) & SUg 9d-v | (@8 IR)

Describe the steps which should be taken to control floods. (any four)

Al G @ Sfae H 1929 & ARR IR & FIT 78T &7 (4)

What is the importance of Lahure session of 1929 in the history of freedom struggle.
3q1 / OR
ST AmrE @ or? falkady |

What was Jungle Satyagrah? Explain.

IRA @ fager i &1 i faeeari qarsy | (4)
Write main features of the foreign policy of India.

31e1a1 / OR
YRA 3R 99 gg§ & F1 yRomd gue

Write the effects of Indo-china war?

FHTSTATET Ud Uey RARUEdT 1 32y AHSISY | (4)

Explain the meaning of socialist and secular.

312rar / OR
IRA &1 Sfem forRaa vd fawga a=1f 87 auie SIfog |

Why is Indian constitution written and large? Explain.
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U.21

.22

[300]

JSiiare @ <IUl &1 ARAT BHIfoTY |

Describe the demerits of Capitalism.

3Ud1 /OR

JTRHRT F IU~ AN 137 |

What are the problems created by Globalisation?

TR & qErF § 4 &1 g9igd—

() TNAThSl §ATg 3TSSl
(i)  PIaRr T

(i) HTS BT 0T

(iv) Sl UGS &=

(v) A DI TS

Show the following on the Map of India —
(i)  Santacruz Airport

(i)  Kaveri River

(i)  Rann of Kachchh

(iv)  Jute production area

(v) Bay of Bengal

Page 10 of 12
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.23

[300]

312rar / OR
fAfaRaa #w vd arg deeh dadl $F o SR gRasT # Seigy —
M gu
(i) BETET
(i) 2=
(iv) =md
(V)  g¥oA

Give the indication of the following seasonal and air conditions in your answer book. —
(i) Haze

(i)  Mist

(iii)  Snow

(iv) Calm

(v)  Hurricane

F—HT BT AER <RI IR T YA UST? (5)

Write the effects of “Bang - Bhang” on freedom movement.

312191 / OR
AN famg WIS & RIMUAT & 31 T ol Ud IRT I Waadl & folv S9b

IrTe ol falRay |

Why was the Indian National Army set up? Write about is contribution to the freedom

struggle of India.
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Y24 1971 H U URd — UTH & H UG B WIS & T BRI I? (5)
What were the reasons of defeat of Pakistan in Indo — Pak war 19717

312141 / OR
IRA—A g H UHdRBI & [IRM B G190 9 - T I o SR |
Why did China declare one — sided cease fire in the Indo — China war? Explain.
U.25 WS AR @l fARwameil &1 avi| sRY | (@15 uid) (5)

Describe the special features of federal form of Government. (any five)

391 /OR

Ige ¥ foggs ok 89 &1 gfshar &1 gl ST |

Write the procedure of passing a bill in the parliament.

Y26 AIGH UGRI & IRR TR &7 YT BIdT ©° foIRad | (5)

What is the effect of drugs on the body?

391/ OR

YRA H SRISHRI & GG BRON DI GBI |

Describe main cause of unemployment in India?
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Gl Tl DI H=AT : 28 HA TSI BT F=AT © 08

Total No. of Questions: 28 Total No. of Pages: 08

8IS Tho! wWe, faawr — 2017
401
fawg : 2= @M=
Subject: HINDI GENERAL
| : 03 GV quTies : 100
Time: 03 Hours Maximum Marks: 100
S

(i) o geT ST &

(i)  FTT B 1 & &5 TB JegIT0 Fo7 &/ AB & ford 1x5=5 & [T
&/ goT 3 (1x5x5=25) &/

(iii) T BHH 6 § 15 Tk TP 97 & [o/7 q1—31 & [FEiRa &/ s T
30 TZ )

(iv) T HHH 16 & 21 T JAF F97 & [o9 di7—di7 i@ [FIRT &/ I
AT 30 ¥ 75 =T &)

(v) FT HHIG 22 F 24 GF FAF F7 & [y av—arw @ [FEiRaT & T
AT 75 & 120 I &/

(vi) T FHE 25 ¥ 27 TF FAF F97 & oy Gig — Ui 9@ [T & I
AT 120 ¥ 150 I &/

(vii) FFT HHH 28 F [0 7 HFT 200 & 250 T [T & 7o 79 dE

(7+3=10) FERT &1 @vs 31 & fory 7 3 Tor @vs § @ fory 3 3% &/
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U1 el fdeed &1 aa9 DITe— (1X5=5)

(1) Ao 3R YA’ a7 & S IR |l 3= UTWl BT 3

(1) S« @ w99
@) sMm @) T™«
(2) wCHATel SO UM I oft—
(1) TP e @ TP dxX
3) TP wer 4) ue sferr
(3) Jordard S & T Bl AM AqT—
(1) Fwr (2) UTA T
(3) Rrare < (4) TR T
(4) “HI®” T fHABT yARET §?
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High School Exam., December-2017
411
fawg : so (W)
Subject: ENGLISH (GENERAL)

HHY 03 HUe quTids : 100
Time: 03 Hours Maximum Marks: 100
Instructions:- (i) All the questions are compulsory.

(ii) Read the questions carefully.
(iii)  Marks for each question are indicated against it.

SECTION - A (Reading)

Q.1 Read the passage carefully and answer the questions given below it.
A young father was visiting an older neighbour. They were standing in the older man’s
garden and talking about children. The young man said, “How strict should parents be with
their children?” The older man pointed to a string between a big, strong tree and a thin,
young one. ‘Please untie that string, ‘he said. The young man untied it, and the young tree
bent over to one side. ‘Now tie it again, please’ said the older man. “But first pull the string
tight so that the young tree is straight again”. The young man did this. Then the older man
said, “It is the same with children. You must be strict with them, but sometimes you must
untie the string to see how they are getting on. If they are not yet able to stand alone. You
must tie the string tight again. But when you find that they are ready to stand alone. You

can take the string away.”

Questions:

(i)  Where were the men standing? (1)
(i)  What did the older man ask the young man to do with the string? (1)
(iii)  With whom should the parents be strict sometimes? (1)
(iv)  Find out the opposite of the word — ‘different’ from the passage. (1)
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Q.2

[411]

(v)  When the young man untied the string, the young tree ................... to one side. (1)
(a) Fell down
(b)
(c) Stood straight
(d) Didn’t bend

Bent over

Read the following passage carefully and answer the questions below it:

City children suffer from a great disability. They have little contact with nature. They do not
know the joys of living in the open air. In cities, there is no space to live, so one storey is
piled upon another. Their lives are so artificial that they don’t enjoy the benefit of seeing
the stars at night. They buy flower pots and put paper flowers or plastic flowers in them.
They hang pictures of sun — rise or sunset on the walls. Whenever one turns one finds
artificial lights during the day as well as in the night. They have lost even darkness of night
which is given to man for peace and quiet thought. So the task before education is to
change the whole system of values that are current in our cities.

Questions:

(i)  Which disability do the city children suffer from? (1)
(@) They are weak
(b) They cannot play in the open
(c) They have little contact with nature.

(i) Find the opposite of the word ‘natural’ from the above passage: (1)
(a) Beneficial
(b) Artificial

(c) Superficial

(i)  What is the importance of night for man? (1)

(iv) What is the task before education? (1)

(v)  How have their lives become artificial? (1)
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Q.3

Q.4

[411]

Read the following passage carefully and answer the questions given below it: -
Once there was a merchant. He was very clever. One day his money was stolen. He
called all his servants to find out the thief but in vain. At last he thought a plan. He
collected some sticks of same size and gave one stick to each servant. He told them that
those were magic sticks. The sticks of the one who was thief would become one inch
smaller than others. He ordered them to show their sticks the next day. The servant who
was thief cut off one inch from his stick. On the next day when the merchant took the sticks
back one stick was found one inch smaller. Thus the thief was caught. He had to accept
his crime. The merchant got back his whole money.
(@)  On the next day the merchant found: (1)
(i)  One stick less
(i) One stick bigger

(iii)  One stick smaller

(b) The merchant gave the servants the magic sticks. (True/ False) (1)
()  Why did he distribute sticks among the servants? (1)
(d)  Why did the thief cut the stick? (1)
(e) How was the thief caught? (1)

SECTION — B (Writing)

Write a letter to your friend asking him / her to join you in the coming summer vacation. (6)
OR
Write an application to the principal of your school for your school leaving certificate.

(S.L.C/T.C)
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Q.6

[411]

Read the following passage carefully and answers the questions given below.
Neem was always a miracle tree. But new findings attributing even more miraculous
properties cropping up with amazing frequency. The humble Neem could very well emerge
as the solution to locust attacks and exploding population graph as well as providing cheap
over the counter. Whether a herbal medicines toiletries pharmaceuticals or as an
environmentally soft natural pesticide need has evoked world wide interest. So much so
that, as on April, 1995, there were 53 patents on Neem related product field world wide of
these. India holds just three. The sudden interest in Neem and Neem related issues in
India can be attributed to a controversial patent granted to W. R. Grace a V. S. company in
1992 for a process it developed which preserves azodirathyin, the primary active chemical
produced by Neem.
Questions:
(@) On the basis of your reading of the above passage, make notes on it and supply a

suitable title. (4)
(b)  Now write a summary looking at the notes. (3)
Write an article on ‘Importance of Games and Sport’s with the help of verbal input
provided. (7)
Games — necessary part of life. Useful — body, mind. Games teach — sportsmanship,
discipline, courage, important part of education.

OR

Write an essay on any one of the following topics:
(i) My hobby
(i)  The book I like most
(iii)  Science is a Good servant but a bad master.

(iv)  Any Great leader.
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SECTION - C (Grammar)

Q.7 (a) Fillin the blanks by using correct form of verbs given in the brackets (any five)  (5)
(i)  Mohan was very tiredsohe............c.coeenanns to bed early. (go, gone, went)
(i) The SUN .. in the east. (rises, rise, rised)
(i) Itwasdark,sOl....cccoiiiiiiiiiin a torch with me. (took, take, taken)
(V) e dogs seldom bite. (barking, bark)
(V) Hepromised ......c.ccooiniiiiiiiiiiiiiiiieeeen the money. (to return, returns)
(vi) My younger brotherusedto ................. tennis in his childhood. (play, playing)
(b) Choose the correct words from the brackets and fill in the blanks (any five) (5)
(i)  Strikethe iron ... it is hot. (after, till, while)
(i) Workhard ... you will fail. (or, but, so)
(iii) My brother is very strong. He ...
lift 80kg of weight. (may, can, ought to)
(iv) Ramawantedtoknow ..............c...c.eee. she was doing. (where, what, while)
(v)  The student has been suffering from fever ...........c.ooooiiiii i,
three days. (for, since, from)
(Vi)  Herfatheris ... M. L. A. (a, an, the)
Q.8 Do as directed (any five) (5)
(i)  1did not go to school yesterday. | was ill. (combine using ‘because’)
(i) My friends go to school. (Rewrite using simple past tense)
(i) 1 can operate the computer. (Make Negative)
(iv)  Mr. David lives in Bhopal. (Make a question beginning with ‘Where’)
(v)  The student is very fast.
He can win the race. (Combine using ‘so .......... that’)
(vi) have/ we/ work/ done/ our. (Rearrange the words to make a meaningful sentence)
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Q.9 Translate any five sentences into English: (5)

(i
(ii)

(i)
(iv)

(v)

(vi)

HICTST ST 97 &1 o |

I8 3YUAT BRI IR GBI ¢ |

FIT 3MT TR Fdhdl &7

a9l 81 Rl 2 |

W T 9T T

SAMGRI 99 e A 7 |
SECTION-D

Q.10 Read the following extract carefully and answer the questions given below it.

[411]

Mamta had been studying in a small school in the nearby town till then, as her parents

could not afford to send her to any of the public schools in the city. It was only because of

the scholarship she had won from a trust that it had been possible for her to join this

reputed convent school. Being away from home, in a hostel, she yearned for some friends,

but till now most of the girls had refused to accept a small — town girl as their friend. Most

of the girls in the school came from rich families. They treated her as an unwelcome guest

who was too low in status by their standards.

Questions:

(a)

From which lesson has this extract been taken? (1)
(i)  The new player in the team

(i)  The Tribute — |

(iii)  One step ahead.

Mamta could not join any public school because ......... (1)
(i)  She was weak in studies.

(i)  Her parents could not afford to send her

(i)  She could not get scholarship.

Find out a word from the extract which means ‘a building that provides cheap
accommodation and meals to students’. (1)

Why did the girls in the school avoid Mamta’s company? (2)
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Q.11 Read the following extract carefully and answer the questions given below it.

| met swami Shivanand — a man who looked like a Buddha, wearing a snow white dhoti
and wooden slippers. He had an olive complexion and black piereing eyes. | was struck by
his irresistible, almost child — like smile and gracious manner. | introduced myself to the
Swamiji, My Muslim name aroused no reaction in him. Before | could speak any further, he
inquired about the source of my sorrow. He offered no explanation of how he knew that |
was sad and | did not ask. | told him about my unsuccessful attempt to join the Indian Air
Force and my long — cherished desire to fly. He smiled, washing away all my anxiety
almost instantly.

Questions:

(i)  The meaning of the word ‘attempt’ is- (1)
(a) Effort
(b) Job
(c) Source

(i)  The writer of this lesson, from which the extract has been taken, is- (1)

(@) Minakshi G. Jain
(b) A.P.J. Abdul kalam
(c)  Sudha Murthy
(iii)  The writer wanted to join: (1)
(@) Indian Army
(b) Indian Air force
(c) Indian Navy
(iv)  What was the writer struck by? (2)
Q.12 Answer the following questions in about 30 words:-
(@) What was the reaction of the young girls and boys after the writer’s lecture in the
lesson ‘The Red Rice Granary’? (3)
OR
How did the boy make himself able to walk and run?
(b) What did the three revolutionaries do while going towards the place of execution? (3)

OR
How did subuddhi prove himself innocent at last?
Q.13 Why did Pratap singh call Bhama shah the ‘Saviour of Mewar’? (4)
OR

Why did Bhamashah travel as pilgrim?
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Q.14 Read the extract carefully and answer the questions that follow:
The hand of peace is frank and warm,
And soft as ring dove’s wing;
And he who quells an angry thought

Is greater than a king.

Questions:

(@) The extract has been taken from the poem ...............ooooiinitn 1)

(b) ‘Quell means: (1)
(i)  Defeat
(i)  Succeed
(iii)  Hungry

(c)  Which word rhymes with ‘King’? (1)
(i)  Angry
(i)  Wing
(iii)  Frank

Q.15 What does the poet want to know about the ‘blower’ — the wind? (3)

OR
What is the message of the poem ‘Light the Lamp of Thy Love’?
Q.16 Answer any two of the following questions in 20 words each: (4)
(@) What does the poet say about the memories of the dead people?
(b)  What happens when the poet looks at the children playing?
(¢) What can forests teach us?
Q.17 Answer any three of the following questions in 30 words each: (9)
(@)  Who founded the Red — cross society and when?
(b)  What was the king curious to know?
(¢) How did the dove help the drowning bee?
(d)  Why can'’t children leave some of their books behind at home?
Q.18 Answer any two of the following questions in 30 words each: (6)
(@)  Why did Gandhi ji travel in third class?
(b)  What happens when we have pockets full of money?

(c) What do we need for our highways?
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